


After running the program, the user must insert the initial event. Then forward chaining
performs over the cause-consequence concepts and expected chains will be created. The
chains that do not end with an accident should not be generated by the system.

Please insert the initial event : ‘

=» 1-214 (MAIN::my_event_chailn (InitialEvent "Tempeture_indicator fault™) (FinalEvent "accident™)
==» Activation: MAIN::from-start : +-214, ¥-197

== Activation: MAIN::from-start : f-214, f-193

MAIN: :to-intermediatel: +1+1=1+2+t

FIRE 1 MAIN::from-start f-214, f-198

==» f-215 (MAIN::reachable (from "Tempeture_indicator fault™} (to "Give_less_hot by heating_elemen
==» Activation: MAIM::to-intermediatel : +-215, T-286

FIRE 2 MAIN::to-intermediatel f-215, f-286

==» f-216 (MAIN::reachable (from "Give_less_hot_by_heating_element") (to "Mot_encugh_steam_produce
FIRE 3 MAIN::from-start f-214, f-197

==» f-217 (MAIN::reachable (from "Tempeture_indicator fault™) (to "Give_more_hot by heating_elemen
==» Activation: MAIM::to-intermediatel :; +-217, T-284

==» Activation: MAIN::to-intermediatel : F-217, f-285

FIRE 4 MAIN::to-intermediatel -217, f-285

==> f-218 (MAIN::reachable (from "Give_more_hot by heating element") (to "Over_pressure™))

==» Activation: MAIN::to-intermediatel : f-218, f-2@82

FIRE 5 MAIN::to-intermediatel f-218, f-282

==» f-219 (MAIN::reachable (from "Over_pressure™) (to "accident™))

FIRE 6 MAIN::to-intermediatel f-217, f-284

==» f-228 (MAIN::reachable (from "Give_more_hot_by_heating_element™) (to "Too_hot_vessel™))

==» Activation: MAIN::to-intermediatel : f-228, f-196

FIRE 7 MAIN::to-intermediatel -228, f-196

==> f-221 (MAIN::reachable (from "Too_hot_vessel™) (to "accident™))

MAIN::to-destinationl: =1=1=1+2+t

MAIN::to-destination2: =1=1=1+2=1+2+t

==» Activation: MAIN::to-destination3 : +F-214, f-217, f-284, f-196

== Activation: MAIN::to-destination3 : f-214, f-217, f-285, f-282

MAIN: :to-destination3: =1=1=1+2=1+2+2+t

FIRE 1 MAIN::to-destination3 f-214, f-217, f-285, f-282
P P P P ********************************************%****

E

With the initial event: ( Tempeture_indicator_fault ) the fellowing ewvent chain can be inferred:

1 (Tempeture_indicator fault)-»(Give_more_hot_by heating_element)->(0Over_pressure)-»(accident)

EEEE L EEE D EEE D EEE D EE R e e e e e

FIRE 2 MAIN::to-destination3 f-225, f-228, f-216, f-288

FH A E R * R * R * R o s e oo o e ke o o o e e o o e ke o o o e e o o o ko o o e o o o o ok o e HE kAR
*

T wWith the initial event: ( Tempeture_indicator_fault ) the following event chain can be inferred:
1
1

(Tempeture_indicater_fault)-»(Give_more_hot_by heating_element)->(Too_hot_vessel)-:(accident)

FH A E R * R * R * R e R L
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Please insert the initial event : h

==» -214 (MAIN::my_event_chain (InitialEvent "Faulty Command_of Centroller”) (FinalEvent "accident™))

> Activation: MAIN::from-start : f-214, f-289

> Activation: MAIN::from-start : f-214, f-218

> Activation: MAIN::from-start : f-214, §-211

==> Activation: MAIN::from-start : T-214, T-212

MAIN: :to-intermediatel: +1+1=142+t

FIRE 1 MAIN::from-start f-214, T-212

==» f-215 (MAIN::reachable (from "Faulty Command_of_Controller™) (to "Give_less_hot_by heating_element™))
==> Activation: MAIN::to-intermediatel : -215, f-286

With the initial event: ( Faulty_Command_of_Controller ) the following event chain can be inferred:

A

(Faulty Command_of_Controller)->(pump_action_while_should_not_action)-»(Water_level exceeds_max)->{accident)

T4

FIRE 2 MAIN::to-destination3 f-225, f-228, f-217, f-214

3

With the initial event: ( Faulty Command_of Controller ) the following event chain can be inferred:

* % #

(Faulty Command_of_Controller)->(Give_more_hot_by_ heating element)->(0Over_pressure)->(accident)

FIRE 3 MAIN::to-destination3 f-225, f-228, f-216, f-2@8

¥

With the initial ewvent: ( Faulty_Command_of_Controcller ) the following event chain can be inferred:

T

(Faulty Command_of_Controller)->(Give_more_hot_by heating_element)->(Too_hot_vessel)->(accident)

== Activation: MAIN::to-destination4 : +-225, f-233, f-211, f-287, f-2@8
MAIN: :to-destinationd: =1=1=1+2=1+2+2+2+%
FIRE 1 MAIN::to-destinations f-225, f-233, f-211, f-287, f-288

T4

3

With the initial event: ( Faulty_Command_of_Controller ) the following event chain can be inferred:

* % #

(Faulty Command_of_Controller)->(Pump_no_action_while_ should_action)->(Too_low water_level)->(Too_hot_vessel)->(accident)
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Please insert the initial event :«

==» t-225 (MAIN::my_event_chain (InitialEvent "Pressure_indicator_failure™) (FinalEvent “"accident™))
==» Activation: MAIN::from-start : +-225, f-212

MAIN::to-intermediatel: +1+1=142+t

FIRE 1 MAIN::from-start f-225, f-212

==» f-226 (MAIN::reachable (from "Pressure_indicator_failure") (to "Over_pressure_not_indicated"))
==> Activation: MAIN::to-intermediatel : f-226, f-213

FIRE 2 MAIN::to-intermediatel f-226, f-213

==» f-227 (MAIN::reachable (from "Over_pressure_not_indicated”) (to "No_protective_action™))

==» Activation: MAIN::to-intermediatel : +-227, T-215

FIRE 3 MAIN::to-intermediatel f-227, f-215

==» f-228 (MAIN::reachable (from "No_protective_action™) (to "accident™))

MAIN::to-destinationl: =1=1=1+2+%

MAIN::to-destination2: =1=1=1+2=1+2+t

==» Activation: MAIN::to-destination3 : f-225, f-226, f-213, f-215

MAIN::to-destination3: =1=1=1+2=1+2+2+t

FIRE 1 MAIN::to-destinatien3 f-225, f-226, f-213, f-215

*********************************************************************************************fﬂ!***
=

With the initial event: ( Pressure_indicater_failure ) the following event chain can be inferred:

(Pressure_indicator_failure)->(0Over_pressure_not_indicated)-»(No_protective_action)->(accident)

S e et
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